Uy RT3 i TG

YKK AP oy KT v 200

A= 1. 5f (2, 651mm)

Hifg= 5/ (1, 520mm)

B: Ly FrFISHY

R¥R . #EBEY

Bk . EEER

EH: THRA F@00~550mm) (& : h—LTS5v)

YKK AP Uy FTwvx 200 REREwY b EEA4 7T (1K)
RIA= %91, 300mm
B: LYRISOV/FERE: h—LT5vD

YKK AP Uiy FT X TV R2BLSFREF>
AREK1¥ WxH) = 10F/T100 % 1

AREK1¥ WxH) = 12F/T100 x 1

oEFE - T100x 2

EHEHALW : T100x1

B: Ly FrISHY

TV X MAEEM 0 EfTHE X1

XKIAFEY LA A=DTY,

2019-6-617092 TS AP

-— HISEIRILR PR BB X 0 B R D2 & A DA BB S ERTEGET,
I /- 7 Z—[E\\J ’ Wi T, BB ST 2 RVETOT, BUAVIEE, KO TR0 E, I, F L BICKLET,




